LaampIon

Power & force MNNocTpMpOoBaHHbIN KaTaior 3anacHbIX YacTei Mopaenb: GG6500

Ne ApTUKyn HaumeHoBaHMe K-so | Ne ApTUKyn HaumeHoBaHue K-Bo
1 2033006006007 3alUMTHAA KpPbILWKa 1 10 3055000000016 BbInycKHOW KonnekTop 1
2 2004000000064 BTynKka kabens 1 11 3056000000077 KpoHLwwTeiH KpenneHus kopnyca punbtpa 1
3 3037001011048 bont M10x269x1,25 1 12 3056000000043 Kpblwka Bo3ayxo3abopHuka 1
4 3063000090004 KonnekTopHbie WeTku 1 13 2028532916003 Potop 1
5 3016003000001 CoeaAnHUTENbHAA KONOAKa 1 14 2028332905006 CraTop 1
6 3055000000026 KpoHLuTeiH KpenneHus raywutens 1 15 2033007020001 Kosyx ctaTopa 1
7 3060002002001 Kpbiwka reHepaTopa ctopoHa ABP 1 16 3060005002008 Bont M6x180 4
8 3055000000027 Fnywutens 1 17 3060003002001 Bnok AVR 1
9 3048081000100 MpoknagKa KonnexkTopa 2 18




LaampIon
Power & force

NnnocTpnpoBaHHbIM

KaTanor 3anacHbIX YacTen

Mopenb: GG6500

o (] -
Ne ApTUKYN HaumeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 029019901102 Kpblwka TonameHoro 6aka 1 12 271890001-0001 | Posetka 16A/250V 2
2 306020070300 dunbTp TONAMBHOTO HaKa 3 13 3014003000020 PoseTka 32A/250V 1
3 307030230300/ YKasaTe/lb ypOBHA TONNBA 1 14 305170530231/ Bobikntouatenn cetn 23A 1

3056000000079 3008204000044
4 306360230152/ TonnueHbIN BaK 1 15 3013001000005 Jlamnoyka nHankaTopa cetm 1
2011030021021
5 2004000000046 | AmopTtusatop baka 4 16 3047002000001 BonbtmeTtp 1
6 3058000066001 | TomauBHbIN KpaH 1 17 3047018000001 CyeTymk moToyacos 1
7 3037011014001 | XomyT WwnaHra 1 18 2050112490015 MNaHenb 1
8 029019900100 LLnaHr ToNAnBHLIN 1 19 3012002000015 BblkatouaTenb 3axuraHma 1
9 2011010218002 Pama 1 20 305495001505/ Kopnyc naHenun 1
3044001000017
10 2004000000009 Bubpousonatop 4 21 2011040033004 Haknagka pambl 1
11 2004000000501 Pe3nHoBan BTy/Ka An1a NpoBOAOB 1 22




LaampIon

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG6500

6

Ne Ne K-Bo
ApTUKYN HanmeHoBaHue K-s8o ApTUKYN HanmeHoBaHue

1 120420011-0001 BonT KpenneHna KpbILKK KaanaHoB 1 8 3037011013013 Brynka 12x20 2

2 120220009-0001 KpbiLWwKa KnanaHos 1 9 3048060400506 LLinunbKa KpenaeHua Kapbiopatopa 2

3 DDB000 MpoKknagKa KpbIWKN KNanaHoB 1 10 3048080400100 Oxnaxkaawowmii Iuct 1
4 F6TC Cseua 1 11 3037001007024 Bont M6x12 1

5 3037003004001 LnunbKa KpenaeHua raywmTens 2 12 3037001007127 Bont M10x80 4
6 120080338-0001 [onoBKa uMnmMHapa 1 13 301250400301/ LWnaHr canyHa 1

3048100400200
7 120150141-0001 MpoknagKa ronoBku LUANHAPA 1 14




LaampIon
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG6500

Ne ApPTUKYA HanmeHoBaHue K-so | Ne ApTUKYA HavmeHoBaHue K-Bo
1 3048080900504 Pblyar rasa Komnaekt 1 15 DD02C010 CanbHUK KoneHsana 35x52x8 1
2 DD02C010 CanbHuK KoneHsana 35x52x8 1 16 110690098-0004 KpbiLWwKa wyn ypoBHA macna 2
3 3048100100102 Kaptep 1 17 3037011013004 WtndT 8x14 2
4 3037011004004 MNpoknagka 6onta 2 18 301220200400/ MpoknagKa KpbIWKKW KapTepa 1
3048080200200
5 3048060100700 bont M12x15 2 19 3048080100100 Ban perynatopa o6opotos 1
6 140020110-0001 Pacnpeggan 1 20 3048060100300 LWaiba 2
7 130290104-0001 KoneHsan 1 21 522010101301 CanbHuK 8x14x4 1
8 380630141-0002 MoAawunnHMK KoneHeana 6207 1 22 3048060100200 LnanHT 1
9 03090010016 MNoawwunHuk Bana 6anaHcupa 6202 2 23 3048080900400 Pbluar Bana perynstopa o6opotos 1
10 3048100301000 Ban 6anaHcupa 1 24 3048080900300 Mpy*KunHa pblyara 1
11 3048060100600 TonkaTenb perynaropa 1 25 3048080900200 MpyuHa TATK pblyara 1
12 3048060100400 Ban perynatopa 1 26 301220900100/ TAara pblyara 1
3048080900100
13 171750004-0001 LieHTpo6exHblii perynatop 1 27 3048081200300 3arnywka KapTepa 1
14 | 301220200101/ Kpbiwka reHepaTopa 1

3048080200101




LaampIon

Power & force

Mﬂl’ll-OCTpVIpOBEIHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG6500

?

Ne Ne K-so
ApTUKyn HanmeHoBaHue K-Bo ApTukyn HanmeHoBaHue

1 DDF044 Kopombicno knanaHa Komnnekr 2 7

500550032-0001 KnanaHbl, Komnaekr 1
2 301180500301 Hanpasnstowas Tonkatenei KnanaHa 1 8
3 DDF009 Konnayok knanaHa 2 9 019990003400 MacnocbemHbIii Konnavok 1
4 301180500800/ Cyxapb KnanaHa 1 10 DGF015/ TonkaTtenb (WTaHra) KnanaHa 2

3048060500800 140670006-0001

5 140340025-0001 Mpy*unHa kKnanaHa 1 11 DDF010 Tapenka TonkaTena knanaHa 2
6 DDF016 Tapenka nog Npy>KMHy KnanaHa 1 12




LaampIon

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG6500

.~

i

~

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-8o
1 130150049-0001 WatyH 1 4 3048080300200 MNanew nopwHsa 1
2 TW00040015 MopweHb 90Xx66 Mmm KOMNAEKT 1 5 130070088-0001 MopwHeBoe KonbLo 90x2,0 Mm KOMNNEKT 1
3 3048080300300 CronopHoe KonbLo 2




LaampIon

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG6500

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-8o
1 DFB0O07 Mpoknagka noa TennonsonaTop 1 4 3048100700104 Kap6topaTtop 1
2 170440041-0001 Tennousonatop 1 5 DDB003 MNpoknagka nog Kopnyc dbunbTpa 1
3 DGB006 Mpoknagka nog Kapbropatop 1




LaampIon

Power & force

Mopenb: GG6500

Mﬂl’ll-OCTpVIpOBEIHHbIVI KaTanor 3anacHbIX YacTen

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 270920170-0001 MarHeTto 1 5 160180009-0001 Kpblnb4aTka MaxoBuKa 1

2 270950040-0001 Konnayok ceeun 1 6 DFJOO1 CTaKkaH MaxoBuKa 1
3 3037001007052 Bont M6x28 2 7 3048061200700 lalika MaxoBuKa 1
4 3048081200400 MaxoBuk 1




LHAMPION
Power & force

Mﬂl’ll-OCTpVIpOBEIHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG6500

o (] -
Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 193500019-0011 Craptep B c6bope 1 3 2010000110020 Koxyx maxoBuka 1
2 193540003-0001 Cobauka cTapTepa




LaampIon

Power & force

Mﬂl’ll-OCTpVIpOBEIHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG6500

-

ApTUKYN

HanmeHoBaHue

K-Bo

ApTUKYN

HanmeHoBaHue

K-Bo

301250820001

3048100800101/ Kopnyc ¢punbrpa Komnnekr

3048100800200

DUNbTP BO3AYLLHbIN






